STEERING & SUSPENSION PARTS

Ajuo sasodind uonELWIO)U| 10j PBSN 21B JUSLLUNJOP SIY3} Ul papn|aul BJEP pue siagquinu jed ‘suoi) ap jonpoud ||y
“JIpi|5eLWIE 1B]iq 829pES 13[11aA aA LIE|BIBLUNU BYlEd ‘IiBjBLWUE)YISE UNIN WD) IEPUBLUNYOP NG X

SINILI MM3N



e
{5 TXNOROT

TEKNOROT REF: AU-EMO34
Engine Mount Bushing only for tai engines

Weight: 168  Length: 215

MODEL NO BODY CODE YEAR DIRECTIONS
GOLF MK7/MQB 2012-2020 Front Right
TEKNOROT REF: AU-EMO34

Weight: 158  Length: 215

MODEL NO BODY CODE YEAR DIRECTIONS

A3 8V1 2012-2020 Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ovember

ADAPTABLEFOR V/OLKSWAGEN

OEMNO

500199262BH

ADAPTABLEFOR ALJ/

OEMNO

500199262BH



‘&?FWE NOROT 2020 November
TEKNOROT REF: AU-EMO34 C owmesr SEAT

Engine Mount Bushing only for tdi engines

Weight: 158  Length: 215

LEON (5F1] 2012-2020 Front Right 500199262BH

TEKNOROT REF: AU-EMO34  oemesor SHODA

Engine Mount Bushing only for tdi engines

Weight: 158  Length: 215

OCTAVIA 5E 2012-2020 Front Right 500199262BH

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 2



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: AU-EMO35 ADAPTABLEFOR VOLKSWAGEN

Engine Mount Bushing only for tdi engines

Weight: 168  Length: 215

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GOLF MK7/MQOB 2012-2020 Front Right 5001992628H
TEKNOROT REF: AU-EMO35 ADAPTABLEFOR ALJD/
Engine Mount Bushing only for tdi engines

Weight: 158 Length: 1695
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

A3 8v1 2012-2020 Front Left 5001599262BF

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘&?FWE NOROT 2020 November
TEKNOROT REF: AU-EMO35 C owmesr SEAT

Engine Mount Bushing only for tdi engines

Weight: 158  Length: 1695

LEON (5F1] 2012-2020 Front Left 5001992626F

TEKNOROT REF: AU-EMO35  oemesor SHODA

Engine Mount Bushing only for tdi engines

A -

Weight: 158  Length: 169,5

OCTAVIA 5E 2012-2020 Front Left 5001992626F

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 4



{$ T=NOoROT

TEKNOROT REF.: B-1036 ADAPTABLEFOR BMW
Suspension Stabilizer Bar Link

é .

Weight: 0375 Length: 3172  Bolt Metric. M10X15

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3-SERIES G20, G21 2018- Front Right 31306893360
TEKNOROT REF: B-1037 Wi = )

Suspension Stabilizer Bar Link

% 5

Weight: 0,375 Length: 3172  Bolt Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

3-SERIES G20, G621 2018- Front Left 318306893359

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: B-1058 ADAPTABLEFOR BMW
Suspension Control Arm and — yepjele app-Gran Turismo
Ball Joint Assembly body type-RWD

SR, e

Weight: 2422  Length: 403  Bolt Metric: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
6-SERIES o7 TOMRON 31106861152
TEKNOROT REF: B-1059 ADAPTABLEFCR BMIW
Suspension Control Armand — yepjele app-Gran Turismo
Ball Joint Assemnbly body type-RWD

- o

Weight: 2422  Length: 403  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
6-SERIES 2017- Forward 31106861151

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: B-1058

Suspension Control Arm and
Ball Joint Assembly

o, e

Weight: 2422  Length: 403  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR
7-SERIES G11 G12 2017-
TEKNOROT REF: B-1059
Suspension Control Arm and
Ball Joint Assembly
5 o~
Weight: 2422  Length: 403  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR
7-SERIES G611 G12 2017-

RWD

DIRECTIONS

Front Right
Lower Forward

RWD

DIRECTIONS

Front Left Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ovember

ADAPTABLEFOR BMW

OEMNO

311066861152

ADAPTABLEFOR BMW

OEMNO

311066861151



TEKNOROT REF. B-1108 ;-

Suspension Control Arm and xOrive - only M550i &
Ball Joint Assembly M550d

Weight: 2557  Length: 393  Bolt Metric: M16X1,5

Front Right
Lower Forward

5-SERIES G30, G31 2017- 311066861157

Suspension Control Arm and xOrive - only M550i &
Ball Joint Assembly M550d

Weight: 2557 Length: 393  Bolt Metric: M16X15

Front Left Lower
Forward

5-SERIES G30, G31 2017- 31106661158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 8



TEKNOROT REF. B-1108 ADAPTABLEFOR BMW

Suspension Control Arm and xDOrive/Gran Turismo
Ball Joint Assembly

Weight: 2557  Length: 393  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
6-SERIES 2017- LOCC o th%r ’ 31106861157
TEKNOROT REF.: B-1109 ADAPTABLEFOR BMW
Suspension Control Arm and xOrive/Gran Turismo
Ball Joint Assembly

Weight: 2557  Length: 393  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
6-SERIES 2017- Forward 31106861158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



7
O ENaRAOT

TEKNOROT REF. B-1108

Suspension Control Arm and
Ball Joint Assembly

e

Weight: 2557  Length: 393  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR
7-SERIES G11,GI12 2017-
TEKNOROT REF: B-1109
Suspension Control Arm and
Ball Joint Assembly
Weight: 2557  Length: 393  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR
7-SERIES G611 G12 2017-

x0Orive

DIRECTIONS

Front Right
Lower Forward

X0Orive

DIRECTIONS

Front Left Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Novermber

ADAPTABLEFOR BMW

OEMNO

31106661157

ADAPTABLEFOR BMW

OEMNO

31106861158



A TSNOROT

'-
k’ STEERING 6§ SUSPENSION PARTS ‘ mber

TEKNOROT REF: CD-1897 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link

e o

Weight: 025  Length: 2865  Housing Metric: M8X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
SRX 2010-2016 Rear 20929893
TEKNOROT REF: CR-448 ADAPTABLEFCRSCIHR Y SLER
Lateral Arm casting

Weight: 1577  Length: 3215

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
) Rear Right Upper
300 2nd Gen 2011-2017 Pearward 5180564AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



L 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CR-449 ADAPTABLEFOR GHRYSLER

H

Weight: 1577  Length: 3215

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
) Rear Left Upper
300 2nd Gen 2011-2017 Pearward 5180565AA
ADAPTABLEFOR [JODGE

TEKNOROT REF. CR-448
Lateral Arm Casting

g

Weight: 1577  Length: 3215

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
) Rear Right Upper
CHARGER 7th Gen 2011 Pearward 5180564AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: CR-449
Lateral Arm

Weight: 1577  Length: 3215

MODEL NO BODY CODE

CHARGER 7th Gen

TEKNOROT REF: CR-448
Lateral Arm

g

Weight: 1577  Length: 3215

MODEL NO BODY CODE

CHALLENGER 4th Gen

ADAPTABLEFOR [J0DGE
casting

YEAR DIRECTIONS OEM NO
2011- Rear Left Lipper 518056544
Rearward
ADAPTABLEFOR [J0DGE
£asting
YEAR ONLY
2008-2010

VEAR DIRECTIONS DEMNO
oppg-  FeerRiont Upper 518056444
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CR-449 ADAPTABLEFOR JODGE
Lafe:'_a//dfm Castl'ng
YEAR ONLY
2008-2010

H

Weight: 1577  Length: 3215

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Rear Left Upper
CHALLENGER 4th Gen 2008 Pearward 5180565AA
ADAPTABLEFOR (JHRYSLER

TEKNOROT REF. DO-278

Suspension Control Arm and
Ball Joint Assembly

Weight: 124 Length: 416  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
ASPEN 2007-2009 Upper 5211320848
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
ﬁ DO-274 Ball Joint Front Lower 5143570AA
-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e
{5 TXNOROT

TEKNOROT REF: DO-279

Suspension Control Arm and
Ball Joint Assembly

Weight: 124 Length.: 416  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
ASPEN 2007-2008  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
ﬁ DO-274 Ball Joint Front Lower
&
TEKNOROT REF: DO-278
Suspension Control Arm and
Ball Joint Assembly
Weight: 124 Length: 416  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
: Front Right
DOURANGO 2nd Gen 2004-2009 Upper
COMPONENTS NUMBER NAME DIRECTIONS
D0O-274 Ball Joint Front Lower

$.

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ovember

ADAPTABLEFOR CHRYSLER

OEMNO

52113206AB

OEMNO

5143570AA

ADAPTABLEFOR [JODGE

OEMNO

52113209AB

OEMNO

5143570AA



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: DO-279

Suspension Control Arm and
Ball Joint Assembly

Weight: 124 Length.: 416  Bolt Metric: M16X1,5
MODEL NO BODY CODE
DURANGO 2nd Gen

COMPONENTS NUMBER

ﬁ DO-274
&

TEKNOROT REF: DO-383
Steering Tie Rod

“’I——p

Weight: 058  Length.: 240

MODEL NO BODY CODE

DAKOTA

YEAR

2004-2009

NAME

Ball Joint

YEAR

1997-1999

DIRECTIONS

Front Left Upper

DIRECTIONS

Front Lower

Bolt Metric. M15X1,5  Housing Metric: M14X1,5

DIRECTIONS

Front Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ovember

ADAPTABLEFOR JODGE

L1k

OEMNO

52113206AB

OEMNO

5143570AA

ADAPTABLEFOR [JODGE

OEMNO

48838139AC



{$ T=NOoROT

TEKNOROT REF: DO-383 ADAPTABLEFOR [JODGE
Steering Tie Rod

"—-ﬂ'

Weight: 0658  Length: 240  Bolt Metric: M15X1.5  Housing Metric. M14X1,5

YEAR ONLY
1998-1999

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
DURANGO 1stGen 1998-2003 Front Inner 488313940
TEKNOROT REF: F-1008 AOAPTABLEFOR FIAT

Suspension Control Arm

Weight: 6,951 Length: 399  Bolt Metric. M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CINQUECENTO 1992-1998  Rear Right Lower 7663115

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 T&XNOROT

TEKNOROT REF: F-1009 ADAPTABLEFOR FIAT
Suspension Control Arm

Weight: 6351 Length: 399  Bolt Metric: M20X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SEICENTO 1898-2007  Rear Left Lower 7663114
TEKNOROT REF: F-1008 soapTBLEFoR FIAT

Suspension Control Arm

Weight: 6,951 Length: 399  Bolt Metric. M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CINQUECENTO 1992-1998  Rear Right Lower 7663115

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2

(5 TEXNOROT

TEKNOROT REF. F-1009
Suspension Control Arm

o
4
iz

weight: 6,951

Length: 399

Bolt Metric: M20X1,5

MODEL NO BODY CODE

SEICENTO

TEKNOROT REF: F-1048
Lateral Arm

e————

Weight: 1549  Length.: 5655

MODEL NO BODY CODE

500X

er

ADAPTABLEFOR FIAT

YEAR DIRECTIONS OEM NO
1998-2007  Rear Left Lower 7663114
ADAPTABLEFOR FIAT
4x2 till 08/2017, 4x4
YEAR DIRECTIONS OEM NO
2015- Rear 52025628

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT nber

TEKNOROT REF: F-1048 ADAPTABLEFOR JEEP
Lateral Arm Only 4x2

e————

Weight: 1,549  Length: 5655

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RENEGADE 2014- Rear 52025628
TEKNOROT REF: F-1049 ADAPTABLEFOR AT
Lateral Arm 4x2 till 08/2017, 4x4

_‘ -

Weight: 0871  Length: 467

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

500X 2015- Rear Forward 51939951, 52025625

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2

A\ TeNOROT
y‘w) STEERING E SUSPENSION PARTS

TEKNOROT REF: F-1049

Lateral Arm

S

weight: 0.871

MODEL NO

RENEGADE

Length: 467

TEKNOROT REF. FD-BS252

Control Arm Bushing

weight: 327

MODEL NO

RANGER

COMPONENTS

J
<

er

ADAPTABLEFOR _JEEP

OEMNO

51939951, 52025625

ADAPTABLEFOR [FORD

Only 4x2
BOODY CODE YEAR DIRECTIONS
2014- Rear Forward
BODY CODE YEAR DIRECTIONS
2011- Front Upper
NUMBER NAME DIRECTIONS
Suspension .
FO-1148 Control Arm and Fr%g:/)%;/f?ht
Ball Joint
suspension
FO-1149 Control Arm and | Front Left Upper
Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

17256967 5232166% AB313084B07,
DB393084BA*

OEMNO

EB3C3084B1B, 1725696, 5252166

EB3C3091B2B, EBSCS091B1B,
1751006, 5232167



TEKNOROT REF. FO-1079 ADAPTABLEFOR FORD
Lateral Arm

s
-

Weight: 2117
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
EDGE U387 2006-2014 Rear Upper CT4755008, BT4755000
TEKNOROT REF: FO-10789 ADAPTABLEFOR [ INCOLN
Lateral Arm

s
-

Weight: 2117

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MHX 1stGen 2007-2014 Rear Upper CT4755008, BT4755000D

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
o ENOROT mber

TEKNOROT REF: FO-1138 ADAPTABLEFOR R
Suspension Control Arm and R R U
Ball Joint Assemnbly T il
?fb e, &
o
P

. ’ ‘

Weight: 821 Length: 566  Bolt Metric: M16X2 2
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

3 . Front Right

F-150 11th Gen 2004-2008 Lower 7L373078C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
=
‘ FO-591 Ball Joint Front Lower 9L373050A

TEKNOROT REF. FO-1138 ADAPTABLEFOR [ INCOLN
Suspension Control Arm and =3 .
Ball Joint Assembly

"_ =

-~

Weight: 821  Length: 566  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MARKLT 1t Gen 2006-2008  TOTLROM 7373078C
Lower

E’UMPLZNEN 7S NUMBER NAME DIRECTIONS OEM NO

‘ FO-591 Ball Joint Front Lower 9L3Z3050A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
o ENOROT mber

TEKNOROT REF. FO-1139 ADAPTABLEFOR R
Suspension Control Arm and R R U
Ball Joint Assemnbly R—

Weight: 821 Length: 566  Bolt Metric: M16X2 2
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

F-150 11thGen 2004-2008  Front Left Lower /L373079C
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
&

‘ FO-5891 Ball Joint Front Lower 9L.373050A
TEKNOROT REF. FO-1139 ADAPTABLEFOR [ INCOLN
Suspension Control Arm and =3 .
Ball Joint Assembly

4 > 3 -"_. f\
=t ¢

=y 2 1]
- !
-

Weight: 821  Length: 566  Bolt Metric: M16X2

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

MARK LT 1st Gen 2006-2008  Front Left Lower 7L.373079C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-

‘ FO-591 Ball Joint Front Lower 9L.373050A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
‘\) STEERING B SUSPENSION PARTS Vember

TEKNOROT REF: FO-1202 ADAPTABLEFOR F{R[D
Steering Tie Rod End VEAR ONLY

2003-2005

Weight: 0831 Length: 179  Bolt Metric: M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CROWN VICTORIA 2nd Gen 2003-2011 Front Right 3W1Z3A130BA
TEKNOROT REF: FO-1202 ADAPTABLEFOR [ INCOLN
. ) .
Steering Tie Rod End VEAR ONLY N
& 2003-2005 | ) (Fywswwe iy

Weight: 0831  Length: 179  Bolt Metric: M12X1,75  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TOWN CAR 2003-2011 Front Right SWI1Z3A130BA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: FO-1202 ADAPTABLEFOR MERCURY
Steering Tie Rod End VEAR ONLY
. 2003-2005
L

e

Weight: 0831 Length: 179  Bolt Metric: M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND MARQUIS 2003-2011 Front Right 3W1Z3A130BA
TEKNOROT REF: FO-1202 ADAPTABLEFOR MERCURY
Steering Tie Rod End VEAR ONLY
. 2003-2005

Weight: 0831 Length: 179  Bolt Metric. M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MARAUDER 2003-2011 Front Right SWI1Z3A130BA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
‘\) STEERING B SUSPENSION PARTS Vember

TEKNOROT REF. FO-1212 ADAPTABLEFOR FOR[
Steering Tie Rod End VEAR ONLY
@ 2003-2005

1

Weight: 0831 Length: 179  Bolt Metric: M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CROWN VICTORIA 2nd Gen 2003-2011 Front Left 3W173A130B8
TEKNOROT REF.: FO-1212 ADAPTABLEFOR [ INCOLN
Steering Tie Rod End VEAR ONLY

- 2003-2005
1

Weight: 0831  Length: 179  Bolt Metric: M12X1,75  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TOWN CAR 2003-2011 Front Left 3WI1Z5A1306B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF. FO-1212 ADAPTABLEFOR MIERCLIRY
Steering Tie Rod End VEAR ONLY

ml 2003-2005

T

Weight: 0831 Length: 179  Bolt Metric: M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND MARQUIS 2003-2011 Front Left 3W173A130B8
TEKNOROT REF.: FO-1212 ADAPTABLEFOR MERCURY
Steering Tie Rod End VEAR ONLY
- 2003-2005

ii,,

Weight: 0831 Length: 179  Bolt Metric. M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MARAUDER 2003-2011 Front Left 3WI1Z5A1306B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FO-8998 ADAPTABLEFOR FORD
Lateral Arm ‘
% +

Weight: 1167  Length. 1061

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MUSTANG 2005-2014 Rear Lower 5R374264AA
TEKNOROT REF: H-1027A ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link steel type

=

=
-

Weight: 04  Length: 115  Bolt Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V % 2018- Rear 52320TRTAOL

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: H-1037A

Suspension Stabilizer Bar Link steel type
Weight: 041  Length: 306  Bolt Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
CR-V % 2018- Front
TEKNOROT REF: H-1038
Suspension Control Arm and For only Manual
Ball Joint A .S‘.S‘E,’mb/y 7ransmission
YEAR ONLY
2016-2017
Weight: 648  Length: 4535
MODEL NO BODY CODE YEAR DIRECTIONS
ACCORD X 20132017 O RO

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

vember

ADAPTABLEFOR HONDA

OEMNO

51320TRNHOS, 51320TRNHOZ

ADAPTABLEFOR HONDA

OEMNO

51350T2FBO0



TEKNOROT REF: H-1039 ADAPTABLEFOR HONDA
Suspension Control Arm and For only Manual
YEAR ONLY
2016-2017
Weight: 6,48  Length: 4535
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
ACCORD IX 2013-2017  Front Left Lower 51360T2FBO0
TEKNOROT REF: H-1048 ADAPTABLEFOR HONDA
Suspension Control Arm and For only Automatic
Ball Joint Assernbly Transmission
Weight: 647  Length: 4535
MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
ACCORD X 2013-2017 " o %ﬁ m 5135072AB00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: H-1049 ADAPTABLEFOR HONDA
Suspension Control Arm and For only Automatic
Ball Joint Assembly Transmission

Weight: 6,47  Length: 4535

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

ACCORD X 2013-2017  Front Left Lower 51360T2AB00
TEKNOROT REF: HO-BS130 ADAPTABLEFCR HONA
Lateral Arm Bushing

W
Weight: 341

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

JAZZ % 2015- Fr Dgﬁg;/‘/er 51350T5AJ01*% 515360T5AJ01*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm & )
H-1008 Ball oint Assy Front Right 51350T5AJ01

‘ H-1009 Control Arm & Front Left 51360T5AJ01

Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: HO-BS144
Latera/ Arm Bushing

Weight: 36

5238056MA00, 5239055A9807,
5239055AA01% 52380550501%

RSX 2nd Gen 2001-2005 Rear Upper

,—-—g H-10092 Lateral Arm Rear Upper 52390SBMAODO, 5239055A981

TEKNOROT REF: HO-BS144
Latera/ Arm Bushing

Weight: 36

5239056MAO00, 5239055A9807,
5239055AA01* 52390550901*

cvic Vil 2001-2005 Rear Upper

H H-10092 Lateral Arm Rear Upper 5258056MAO0, 5239055A961

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 33




A\ TXNOROT

GT= .
‘\) STEERING B SUSPENSION PARTS Vember

TEKNOROT REF: HO-BS145 ADAPTABLE FOR HONDA
Control Arm Bushing

Weight: 23
MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
W7Ys4 % 2015- r O’;nf égrwef 51350T5AJ01% 51360T5AI01*
COMPONENTS NUMBER NAME DIRECTIONS ODEMNO

Control Arm & ,
H-1008 Ball Joint Assy Front Right 51350T5AJ01

‘ H-1009 Control AT & | o) o 51360T5AI01

Ball Joint Assy

TEKNOROT REF: HY-1027 ADAPTABLEFOR HYUNDA/
Suspension Stabilizer Bar Link

Weight: 026  Length: 191  Housing Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

HI100 VAN 1993-2004 Rear 5471943001

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: HY-1027
Suspension Stabilizer Bar Link AWD

YEAR ONLY
2002-2004

Weight: 026  Length: 191  Housing Metric. M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

SORENTO 2010-2014 Rear

TEKNOROT REF. HY-1038
Lateral Arm only for 4x4

O e

Weight: 0,957  Length.: 3618

MODEL NO BODY CODE YEAR DIRECTIONS

TUCSON M 2004-2010 Rear Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR KA

OEMNO

5471943001

ADAPTABLEFOR HYUNDA/

OEMNO

552202E500



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: HY-1038 ADAPTABLE FOR (I
Lateral Arm Only for 4x4

O e

Weight: 0957  Length: 3618

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SPORTAGE JE 2004-2010 Rear Lower 552202E500
TEKNOROT REF: JE-355 JoupTABLEFOR JEED

Suspension Ball Joint

Weight: 1214  Length. 675

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CHEROKEE KJ 2001-2008 Rear 52088647AB, 52068647AC

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. JE-355 ADAPTABLEFOR JEEP
Suspension Ball Joint

Weight: 1214  Length: 675

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
LIBERTY KJ 2001-2008 Rear 52088647AB, 5208864740
TEKNOROT REF. JE-3592 ADAPTABLEFOR [J0DGE
Lateral Arm

< ——

Weight: 2332  Length: 496

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CALIBER 2007-2015 Rear Lower 51056272AJ, 5105272AE

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF. JE-3592 ADAPTABLEFOR _JEEP
Lateral Arm

————

Weight: 2332  Length: 496

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO

COMPASS MK49 2006-2015  RearLower 51052724), 51052724E
TEKNOROT REF: JE-3592 o
Lateral Arm Exc.Off Road Package

————

Weight: 2332  Length: 496

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PATRIOT 2007-2015 Rear Lower 51056272AJ, 5105272AE

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&XNOROT

TEKNOROT REF: KI-5982 ADAPTABLEFOR (I
Lateral Arm

Weight: 109  Length: 394,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
CEED / 2006-2012  Rear Upper 551001H000
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
Lateral Arm 51959609% 668246739AA%,
5B 1266 Bushing Rear Quter 51939960* B826734AA*
TEKNOROT REF: LX-326 o T

Suspension Stabilizer Bar Link

—

Weight: 028 Length: 123  Bolt Metric. M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

GS Znd Gen (5160] 1997-2004 Rear 48830300680

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. LX-331 ADAPTABLEFOR | EXLJS
Steering Tie Rod End

g

-

sy T

Weight: 0478  Length: 134  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
15200 JUEL ’_gggl 200 1999-2005 Front Right 4546039575
TEKNOROT REF. LX-332 ADAPTABLEFOR | EXLJS
Steering Tie Rod End
.-.

T

Weight: 0,478  Length: 134  Bolt Metric: M12X1,25 — Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

15200 JORONIZ0 1999.2005  FrontLeft 4547059035

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

'-
k’ STEERING 6§ SUSPENSION PARTS ‘ mber

TEKNOROT REF. LX-331 ADAPTABLEFOR | EXLJS
Steering Tie Rod End

g

-

sy T

Weight: 0478  Length: 134  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
18300 1999-2005 Front Right 4546039575
TEKNOROT REF. LX-332 ADAPTABLEFOR | EXLJS
Steering Tie Rod End
.-.

T

Weight: 0,478  Length: 134  Bolt Metric: M12X1,25 — Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

15300 1999-2005 Front Left 4547059035

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



!l November

STEERING 6 SUSPENSION PARTS

44 5 T&KNOROT

TEKNOROT REF: M-1008 ADAPTABLEFOR MIERCEDES
Suspension Control Arm and FOR COIL SUSPENSION
Ball Joint Assembly -4matic

Weight: 185  Length: 340  Bolt Metric: M16X1,5

MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO
C-CLASS W205 4x4 2013- o ower 2053304507
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
SB1188
SB1234
TEKNOROT REF: M-1008 ADAPTABLEFOR MIERCEDES
Suspension Control Arm and FOR COIL SLISPENSION
Ball Joint Assemnbly -4matic

Weight: 185  Length: 340  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower
E-CLASS W213 4x4 2016- Pearward 2053304507
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1188
SB 1234

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘&!me NOROT 2020 November
TEKNOROT REF: M-1008  cwwacos MERCEDES

Suspension Control Arm and FOR COIL SLISPENSION
Ball Joint Assembly

Weight: 185  Length: 340  Bolt Metric: M16X1,5

Front Lower
GLC-CLASS X255,0258 2016- Pearward 20565304507
561188
S5B1234

TEKNOROT REF: M-10181 C semeseon MERCEDES

Suspension Control Arm and FOR 4X2 & S65 AMG
Ball Joint Assembly

Weight: 2497  Length: 360  Bolt Metric: M16X15

Front Right
Lower Rearward

S-CLASS W222 V222 X222 2014- 2223307201

561317

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 43




ovember

TEKNOROT REF: M-10191 ADAPTABLEFOR MERCEDES

Suspension Control Arm and FOR 4X2 & S65AMG
Ball Joint Assembly

e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

Weight: 2497  Length: 360  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
S-CLASS W222\/222 X222 2014- Pearward 2223307101
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1317
TEKNOROT REF: M-1026 ADAPTABLEFOR MERCEDES

Suspension Stabilizer Bar Link

'i

Weight: 0467  Length: 284  Bolt Metric. M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SPRINTER 2019- Front Right 91053203100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: M-1027
Suspension Stabilizer Bar Link

i'

Bolt Metric: M12X1,5

Weight: 0467  Length: 264

MODEL NO BODY CODE YEAR

SPRINTER 2019-

TEKNOROT REF. M-1036
Suspension Stabilizer Bar Link

Weight: 0333  Length: 165

MODEL NO BODY CODE YEAR

SPRINTER 2019-

DIRECTIONS

Front Left

DIRECTIONS

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

vember

ADAPTABLEFOR MERGCEDES

OEMNO

9103203000

ADAPTABLEFOR MIERCEDES

OEMNO

91053261200



S T=
{5 T&NOROT |

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: MA-928 ADAPTABLEFOR MIAZ DA
Lateral Arm LISA Market
YEAR ONLY
2009-2013
Sims - s
Weight: 1014  Length. 185
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
8 GH 20072012 Feertower (531285000, GS3L.285008
Forward
TEKNOROT REF: MA-968 ACAPTABLEFDR MAZ A
Lateral Arm
Weight: 1481  Length: 345
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
CX-5 KE 2011-2017 Forward KD3528500

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MI-7281 ADAPTABLEFOR MIITSLIBISH/

Suspension Control Arm and 4AWD
Ball Joint Assembly

Weight: 3683  Length: 314  Bolt Metric. M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
Front Right
L200 2000-2005 Loper MB831035, MR831035, MR296093
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
fo ol
# MI-515 Ball Joint Front Upper MBBB0829, MBSE0830
TEKNOROT REF: MI-72891 ADAPTABLEFOR MIITSUBISH/
Suspension Control Arm and

Ball Joint Assembly

Weight: 3683  Length: 314  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PAJERD l 1990-1999  FrontLeft Upper  MBS831036, MR831036, MR296094
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i
# MI-515 Ball Joint Front Upper MBBB0829, MBEE0830

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MI-7281 ADAPTABLEFOR MIITSLIBISH/

Suspension Control Arm and
Ball Joint Assembly

Weight: 3663  Length: 314  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PAJERO I oo00-2007 7 ‘ZTDI /féfm MB831035, MRE31035, MR296093
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
fo ol
# MI-515 Ball Joint Front Upper MBBB0829, MBSE0830
TEKNOROT REF: MI-7291 ADAPTABLEFOR MITSUBISH/
Suspension Control Arm and 4AWD

Ball Joint Assembly

Weight: 3683  Length: 314  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L200 2000-2005  FrontLeft Upper ~ MB831036, MRS31036, MR296094
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i
% MI-515 Ball Joint Front Upper MBBB0829, MBEE0830

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
A\) STEERING E SUSPENSION PARTS Vember

TEKNOROT REF: MI-7281 ADAPTABLEFOR MIITSLIBISH/

Suspension Control Arm and
Ball Joint Assembly

Weight: 3683  Length: 314  Boit Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PAJERD l 1990-1999 i ‘ZZ 59"%” L MBB31035 MRE31035 MR296093
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
fo ol
# MI-515 Ball Joint Front Upper MBBB0829, MBSE0830
TEKNOROT REF: MI-72891 ADAPTABLEFOR MIITSUBISH/
Suspension Control Arm and

Ball Joint Assembly

Weight: 3683  Length: 314  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PAJERD M 2000-2007  Front Left Upper  MB831036, MRE31036, MR296094
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i
* MI-515 Ball Joint Front Upper MBBB0829, MBEE0830

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF.: MI-768 ADAPTABLEFOR FIAT

Suspension Control Arm and
Ball Joint Assembly

Weight: 3244  Length: 3045  Bolt Metric: M14X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
FULLBACK 2016- i ‘ZE [féfm 4010A148, 40104114, 6000605878
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ O MI-764 S”SDEJZ%‘;” Bal | ront ypper | 4010A148% 4010A114* 6000605875
TEKNOROT REF: MI-769 soaPTaLEFoR FIAT
Suspension Control Arm and
Ball Joint Assembly
Weight: 3244  Length: 3045  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
FULLBACK 2016- Front Left Upper 40104147, 4010A113, 6000605877
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
_ : O MI-764 SUSDQJZ%‘?” Bal | rrontUpper | 4010A148* 4010A114* 6000605878*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: MI-768 ADAPTABLEFOR MITSUBISH/

Suspension Control Arm and
Ball Joint Assembly

Weight: 3244  Length: 3045  Bolt Metric. M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
L200 KI/KK/KL 2015- r ‘ZTDI /féfm 4010A148, 40104114, 000605878
COMPONENTS NUMBER NAME DIRECTIONS ODEMNO
! o MI-764 SUSDBJZ%‘;” B3l | FrontUpper | 40104148 4010A114% 60006056878

TEKNOROT REF: MI-769 ADAPTABLEFOR MIITSUBISH/

Suspension Control Arm and
Ball Joint Assembly

Weight: 3244  Length: 3045  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L200 KI/HK/KL 2015- Front Left Upper 40104147, 40104113, 6000605877
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
: O MI-764 SUSDQJ”.S’U” Ball | ont ypper | 4010A148* 4010A114* 6000605878
b oint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: N-1018

Suspension Control Arm and
Ball Joint Assembly

Weight: 7832  Length. 474
MODEL NO BODY CODE
0ox56 1stGen
COMPONENTS NUMBER
)
IN-104

TEKNOROT REF: N-1019

Suspension Control Arm and
Ball Joint Assembly

Weight: 7632  Length: 474
MODEL NO BODY CODE
ox56 1stGen
COMPONENTS NUMBER
)
IN-104

YEAR

2004-2010

NAME

Suspension Ball

Joint

YEAR

2004-2010

NAME

Suspension Ball
Joint

! vember

ADAPTABLEFOR INFINITT

DIRECTIONS

Front Right
Lower

DIRECTIONS

Front Lower

OEMNO

545002R00A

OEMNO

54500ZR00A™

ADAPTABLEFOR INFINITT

DIRECTIONS

Front Left Lower

DIRECTIONS

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

54501ZR00A

OEMNO

54500ZR00A*



Ve

TEKNOROT REF: N-1018

Suspension Control Arm and
Ball Joint Assembly

4
F
£

Weight: 7832  Length. 474
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
ARMADA 2003-2016 L ower
COMPONENTS NUMBER NAME DIRECTIONS
) ,
‘ IN-104 SUsp ension gal Front Lower
Joint
TEKNOROT REF: N-1019
Suspension Control Arm and
Ball Joint Assembly
Weight: 7832  Length. 474
MODEL NO BODY CODE YEAR DIRECTIONS
ARMADA 2003-2016  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
) s
‘ w104 | SUsPENSONGaAl L oo over
Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

545002R00A

OEMNO

54500ZR00A™

ADAPTABLEFOR NISSAN

OEMNO

54501ZR00A

OEMNO

54500ZR00A*




/A TEXNOROT
’L'\;_‘_‘t_“‘) STEERING 6 SUSPENSION PARTS

TEKNOROT REF.: N-1018 ADAPTABLEFOR [NFINITY

Suspension Control Arm and
Ball Joint Assembly

Weight: 7832  Length. 474

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
. Front Right
0xX56 2010-2013 Lower 54500ZR00A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
s ,
“ IN-104 Suspension Ball | oot oyer 545007R00A*
Joint
TEKNOROT REF: N-10189 ADAPTABLEFOR [NFINITT
Suspension Control Arm and
Ball Joint Assembly

Q

Weight: 7832  Length: 474

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
0OX56 2010-2013  Front Left Lower 545017R00A
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
la o) .
“ IN-104 S“SDQJZ%?” Ball | eront Lower 545007ZR00A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: N-1018 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 7832  Length. 474

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
TITAN 2004-2015 Lower 54500ZR00A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
) ,
‘ IN-104 suspension Ball | g oyer 545007R00A*
Joint
TEKNOROT REF: N-1019 ADAPTABLEFOR NISSAN
Suspension Control Arm and
Ball Joint Assembly

Weight: 7632  Length.: 474

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TITAN 2004-2015  Front Left Lower 545017R00A
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
fy o) .
‘ IN-104 S USDQJZ%’?” Ball | eront Lower 545007ZR00A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
‘\) STEERING B SUSPENSION PARTS Vember

TEKNOROT REF: N-290 ADAPTABLEFOR NISSAN
Suspension Stabilizer Bar Link

- =
-

Weight: 042  Length: 100  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
AL TIMA L31 2001-2006 Rear K90684, 562617Y000
TEKNOROT REF: NI-BS095 ADAPTABLEFOR NISSAN
Control Arm Bushing
-— I'-.
S
Weight: 333
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3507 7533 2003-2009 Front Lower 5446800000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Suspension .
@ & 3 Front Right
_ IN-108 Control Armand | | oot o 5446800000, 5446800002
Ball Joint
i Suspension
B ® IN-109 controlArmand | T U’;f Left L%W‘ef 5446900000, 5446900002
Ball Joint earwar

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: O-1038 ADAPTABLEFOR. BUICH
Lateral Arm ; S S e

Weight: 06852  Length: 202

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LACROSSE 2nd Gen 2010-2016 Rear Lower 13219171
TEKNOROT REF: 0-1038 ADAPTABLEFOR BLIICH

Lateral Arm

Weight: 0852  Length.: 202

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

REGAL 5th Gen 2011-2016 Rear Lower 13219171

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S T=
{5 T&NOROT |

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: O0-1038 ADAPTABLEFOR GHEVROLET

Lateral Arm

Weight: 06852  Length: 202

OEMNO

MODEL NO BODY CODE YEAR DIRECTIONS

IMPALA 10th Gen 2014-2019 Rear Lower 153219171

ADAPTABLEFOR CHEVROLET

TEKNOROT REF: 0-1038
Lateral Arm

Weight: 0852  Length: 202

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MALIBU 8th Gen 2013-2016 Rear Lower 13219171

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT nber

TEKNOROT REF: 0-1038 ADAPTABLEFOR CHEVROLET
Lateral Arm

Weight: 0852  Length: 202

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

MALIBU LIMITED 9th Gen 2016- Rear Lower 13219171

TEKNOROT REF. 0-1038 ADAPTABLEFOR (JPEL
Lateral Arm

Weight: 0,852  Length: 202

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

INSIGNIA 1st Gen 2008-2017 Rear Lower 13219171

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt o

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. OP-BS136 ADAPTABLEFOR (JPEL
Lateral Arm Bushing
Weight: 239
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
INSIGNIA 1stGen 2008-2017 Rear Upper 22940357" 322?3115209** 22540356".
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
== 0-1018 Lateral Arm | Rear Right Upper 22940357, 423150
B 0-1019 Lateral Arm | Rear Left Upper 22940356, 423149

ADAPTABLEFOR I TROEN

TEKNOROT REF: P-1033

Steering Tie Rod 1.6 16V HDI+VTRAUT.
version

= ————

Weight: 052  Length: 2385  Bolt Metric: M16X1,5  Housing Metric: M12X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

c3 FC 2003-2009 Front 36812000000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{ TENOROT .

TEKNOROT REF. P-1033 ADAPTABLEFOR PEUJGEOT
Steering Tie Rod Only for 1.6 16VGTI/HDI

= ————

Weight: 052  Length: 2385  Bolt Metric: M16X1,5  Housing Metric. M12X1

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1007 (KM] 2005-2010 Front 3812000000
TEKNOROT REF: P-1043 ADAPTABLEFOR CITROEN
Steering Tie Rod THP/HDI 165, tyre size 19"

‘)__—.

Weight: 0698 Length: 366  Bolt Metric. M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

0S4 2011-2015 Front 3612 F8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. P-1043 ADAPTABLEFOR PELGEOT
Steering Tie Rod THP/GT/

YEAR ONLY
2010-2013

i———-

Weight: 0698  Length: 366  Bolt Metric: M14X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
308 2007-2013 Front 3812F8
TEKNOROT REF: PO-BS002 ADAPTABLEFOR PORSCHE
Control Arm Bushing

—

Weight: 294
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PANAMERA 970 2009-2016 DZZLH;’;/VBF 97034105404% 97034105304*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- .
f &y PO-508 Contrq/Arm & Front Right 97034105404
2 Ball Joint Assy Lower
=t Control Arm &
PO-509 . Front Left Lower 97034105304
e Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: PO-BSO03 ADAPTABLEFOR PORSCHE

control Arm Bushing

i
-’

Weight: 134
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PANAMERA 970 2009-2016 " O’/Z égrwer 97034105404* 97034105304*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
&1"-.-.'.,_‘ i
VS PO-508 Contrq/Arm & Front Right 97034105404
- Ball Joint Assy Lower
e PO-509 Control AT & | oo et L ower 97034105304
(¢ Ball Joint Assy
TEKNOROT REF. RE-BS113 ADAPTABLEFOR RENAUL T
Control Arm Bushing
v
Weight: 82
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
7700654179% 7700654178%
TWINGO 1l 2014- Rear Outer 7701348057 7700549611*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
= R-1008 Lateral Arm Rear 4533506700

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

4
F
£

TEKNOROT REF: RE-BS113 ADAPTABLEFOR SMIART
control Arm Bushing
S
Weight: 82
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7700654175%, 77006541787,
FORTWO 453 2014- Rear Outer 7701348037 7700542611
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
R R-1008 Lateral Arm Rear 4533506700
TEKNOROT REF: RE-BS114 ADAPTABLEFOR RENAUL T
Control Arm Bushing

Weight: 76
MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
TWINGO i 2014- Rear Inner 4533506700*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
S — R-1008 Lateral Arm Rear 4533506700

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: RE-BS114 ADAPTABLEFOR SMIART
control Arm Bushing
-~
| S5y d
':‘;{ “'I:I_VP.. o
Weight: 76
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FORTWO 453 2014- Rear Inner 4533506700*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
R R-1008 Lateral Arm Rear 4533506700
TEKNOROT REF: 5B 1373 ADAPTABLEFOR MERCEDES
Control Arm Bushing

—
Weight: 369
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower N
X-CLASS w470 2017- Outer 4703300700
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

M-1029 Control AT & | oo et L ower 4703301000
Ball Joint Assy

M-1028 Conrrq/ Arm & Front Right 4703300700
, Ball Joint Assy Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT nber

TEKNOROT REF.: 8Y-128 ADAPTABLEFOR SSANGYONG

Suspension Control Arm and
Ball Joint Assembly

Weight: 7306  Length: 408  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
) Front Right 4450209100, 4450209004,
ACTYON 1stGen 2005-2010 L ower 4450209001
TEKNOROT REF. 8Y-129 ADAPTABLEFOR SSANGYONG
Suspension Control Arm and
Ball Joint Assembly

Weight: 7306  Length: 408  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
4450109100, 4450108004,
ACTYON 2011- Front Left Lower 4450109001

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘A TEXNOROT

‘&‘N) STEERING 6 SUSPENSION PARTS ber
TEKNOROT REF.: 8Y-128 ADAPTABLEFOR SSANGYONG
Suspension Control Arm and

Ball Joint Assembly

Weight: 7306  Length: 408  Bolt Metric. M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
. ) Front Right 4450209100, 4450209004,
REXTON Y250(facelift] 2007-2012 L ower 4450209001
TEKNOROT REF. 8Y-129 ADAPTABLEFOR SSANGYONG
Suspension Control Arm and
Ball Joint Assembly

Weight: 7306  Length: 408  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
4450109100, 4450108004,
ACTYON 2005-2010  Front Left Lower 4450109001

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT nber

TEKNOROT REF.: 8Y-128 ADAPTABLEFOR SSANGYONG

Suspension Control Arm and
Ball Joint Assembly

Weight: 7306  Length: 408  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
i Front Right 4450209100, 4450209004,
ACTYON 2011 Lower 4450209001
TEKNOROT REF: 8Y-129 ADAPTABLEFOR SSANGYONG
Suspension Control Arm and
Ball Joint Assembly

Weight: 7306  Length: 408  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
) 4450109100, 4450108004,
REXTON Y250(facelift) 2007-2012  Front Left Lower 4450109001

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
‘\) STEERING B SUSPENSION PARTS Vember

TEKNOROT REF.: T-1034 ADAPTABLEFOR TOYOTA
Suspension Ball Joint

£

Weight: 0635  Length: 84  Bolt Metric: M14X15  Housing Metric.: M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO

COROLLA E210 2019- Front Lower 4606802410, 4806902410
TEKNOROT REF. T-1036 ADAPTABLEFOR [ EXLJS
Suspension Stabilizer Bar Link 4AWD

Weight: 052  Length: 94  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
4880260120, 4880260050,
LX450 1995-1997 Front 4881060020

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
A\) STEERING E SUSPENSION PARTS Vember

TEKNOROT REF: T-1036 ADAPTABLEFOR TOYOTA
Suspension Stabilizer Bar Link 4WD

Weight: 052  Length: 94  Bolt Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
4880260120, 4880260050,
LAND CRUISER J100 1898-2007 Front 4881060020

TEKNOROT REF: T-1036 ADAPTABLEFOR TOYOTA
Suspension Stabilizer Bar Link 4WD

Weight: 052  Length: 94  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
4880260120, 4880260050,
LAND CRUISER 180 1990-1997 Front 4881060020

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= .
A\) STEERING E SUSPENSION PARTS Vember

TEKNOROT REF: T-1036 ADAPTABLEFOR TOYOTA
Suspension Stabilizer Bar Link 4WD

Weight: 052  Length: 94  Bolt Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
4880260120, 4880260050,
LAND CRUISER Jgo 1896-2002 Front 4881060020

TEKNOROT REF: T-1103 ADAPTABLEFOR TOYOTA
Steering Tie Rod

IPP e

Weight: 06  Length: 265  Bolt Metric: M16X1,5  Housing Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

COROLLA EZI0 2019- Front 4551002450

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: T-1108

Suspension Control Arm and
Ball Joint Assembly

Weight: 4365  Length: 36864  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
PRIUS XV40 2016- Front Right
COMPONENTS NUMBER NAME DIRECTIONS
i‘? T-605 Ball Joint Front Lower
]
SB 1320
i SB1275 control Arm Front Inner
Bushing
TEKNOROT REF. T-1108S
Suspension Control Arm
Weight: 42  Length: 3197
MODEL NO BODY CODE YEAR DIRECTIONS
PRIUS Xv40 2016- Front Right
COMPONENTS NUMBER NAME DIRECTIONS
5B 1320
i 81275 COnrolAIM. | ot ner
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ovember

ADAPTABLEFOR TQYOTA

OEMNO

46806847060
OEMNO

4353005080, 4333049185,
4333009560

48068F4010% 48069F4010*

ADAPTABLEFOR TOYOTA

OEMNO

48068647060

OEMNO

48068F4010%, 48069F4010%



/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: T-1109

Suspension Control Arm and
Ball Joint Assembly

Weight: 4365  Length: 36864  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
PRIUS XV40 2016- Front Left
COMPONENTS NUMBER NAME DIRECTIONS
i‘? T-605 Ball Joint Front Lower
]
SB 1320
i SB1275 control Arm Front Inner
Bushing
TEKNOROT REF: T-1109S
Suspension Control Arm
Weight: 42  Length: 3197
MODEL NO BODY CODE YEAR DIRECTIONS
PRIUS XV40 2016- Front Left
COMPONENTS NUMBER NAME DIRECTIONS
5B 1320
i sB1275 Contrdl AT ot ner
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ovember

ADAPTABLEFOR TQYOTA

OEMNO

4806947060
OEMNO

4353005080, 4333049185,
4333009560

48068F4010% 48069F4010*

ADAPTABLEFOR TOYOTA

OEMNO

48065947060

OEMNO

48068F4010%, 48069F4010%



A TSNOROT

'-
k’ STEERING 6§ SUSPENSION PARTS ‘ mber

TEKNOROT REF.: T-1108S8 ADAPTABLEFOR TOYOTA
Suspension Control Arm

Weight: 4.2  Length: 3197

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
COROLLA E210 2019- Front Right 4806847060
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1320
i SB 1275 Control Amn Front Inner 48068F4010* 48069F4010*
Bushing

TEKNOROT REF: T-1109S ADAPTABLEFOR TOYOTA
Suspension Control Arm

Weight: 42  Length: 3187

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COROLLA £210 2019- Front Left 4806947060
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1320
i SB1275 Lontrol Arm Front Inner 480B8F4010* 48069F4010*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF. T-1139 ADAPTABLEFOR [ EXUS
Lateral Arm

e —— D

Weight: 1049  Length: 5115

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Rear Lower
£5300 XV20 1996-2001 Forward 4871033051, 4871033050

ADAPTABLEFOR TYOTA

TEKNOROT REF: T-1139
Lateral Arm

e —— D

Weight: 1049  Length: 5115

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
SOLARA XV20 1899-2003 Forward 4871033051, 4871033050

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF. T-1148 ADAPTABLEFOR TOYOTA
Lateral Arm

&——8

Weight: 1167  Length. 299

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

4RUNNER N180 3rd Gen 1996-2002 Rear Upper 4871035030
TEKNOROT REF. T-1148 ADAPTABLEFOR TOYOTA
Lateral Arm

&——8

Weight: 1167  Length: 299

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LAND CRUISER J30 1996-2002 Rear Upper 4871035030

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: T-1178

Suspension Control Arm and
Ball Joint Assembly

Bolt Metric: M14X1,5

Weight: 438  Length: 3874
MODEL NO BOODY CODE YEAR DIRECTIONS
. Front Right
COROLLA E210 2019 Lower
COMPONENTS NUMBER NAME DIRECTIONS
-ﬁ .
‘F e 1-1034 Susp ension gal Front Lower
é Joint
SB 1320
i SB1275 control Arm Front Inner
Bushing
TEKNOROT REF. T-1179
Suspension Control Arm and
Ball Joint Assembly
Weight: 438  Length: 3874  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
COROLLA E210 2019- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
-ﬁ .
‘Ir . 71034 | OUSPENSONBAl ok ower
& Joint
SB 1320
i sB1275 Bontrdl ATm | ot ner
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ember

ADAPTABLEFOR TQYOTA

OEMNO

4806802410

OEMNO

4806802410, 4806802410

48068F4010% 48069F4010*

ADAPTABLEFOR TOYOTA

OEMNO

4806802410

OEMNO

4806802410, 4806902410

48068F4010%, 48069F4010%



{$ T=NOoROT

TEKNOROT REF: TS§-BS002 ADAPTABLEFOR TESLA
control Arm Bushing for 4x2
YEAR ONLY
2012-2016
Weight: 603
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
Front Lower .
MODEL § 2012- Forward 6006664000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Suspension ,
e 75-1081 | Control Armand LO@ g’; [Fg’r%r ; 600666400C
Ball Joint
f Suspension
. 751091 | controlArmand | O”F[ éf‘f/@ égwer 600799800C
Ball Joint
TEKNOROT REF: TS-BS003 ADAPTABLEFOR TESLA
Control Arm Bushing for 4x4
r—y
Weight: 342
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Front Lower N
MODEL § 2012- Forward 1041570004
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Suspension
3 o 751092 | ControlArmand | O”/f UL r%ﬁgwer 1041570004
Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: TS-BS004
Can_t_‘m/ Arm Bush/hg:

Weight: 62

Front Lower .
MODEL § 2012- Pearward 1027351000

Ssuspension
= 15-1083 | comrolArmand | gj”f LUWgr 1048951004
Ball Joint carwart

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 79




